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Sregfile = "m8def.dat"
Scrystal = 4000000
$baud = 19200
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Config Portd.2 = Output
Laser Alias Portd.2

Dim
Dim
Dim
Dim
Dim
Dim
Dim
Dim
Dim
Dim

Dim

S As String * 20

A As Integer

Mid start As Integer
Mid end As Integer

Ar (5) As String * 5
Bcount As Byte

Tmp string As String * 10
Servo_ 1 As Integer
Servo 2 As Integer
Servol pos As Integer
Servo2 pos As Integer
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Config Portb.0 = Input

Config Portb.1l = Input

Config Portb.2 = Input

Config Portd.7 = Input

Keyl Alias
Key2 Alias
Key3 Alias
Key4 Alias
Open '"comb
Open '"comb
Print #1 ,
Print #1 ,
Print #1 ,
Print #1 ,

Pinb.1
Pinb.2
Pinb.0
Pind.7

"Mechatronic II Project Circuit"
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"Programming and Design : Omid Aghababaei" o2 09z Sladiio Jlu)|

"Email : omidbabaei@yahoo.com"
"Tel : +98 912 451 5624"

Config Portd.5 = Output
Config Portd.6 = Output
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Main:

Servol pos = 1500

Servo2 pos = 1500

For T =1 To 10
Pulseout Portd , 5 , Servol pos
Pulseout Portd , 6 , Servo2 pos
Waitus 20000

Next I

Servo_l =0

Servo_2 =0 _
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Input #2 ,
A = Instr(s

If A > 0 Then

Set Lase

S

r

4

Waitms 1000

Reset Laser

Servo 1

Servo 2

Print #1
End If
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A = Instr(s , "STEP") STEP J90wD 8L S D jguo S
If A > 0 Then L 99 jow 8L > sl yiol by 00 6595 L
Bcount = Split(s , Ar(l) , ",") Ol o 00 3385buy b 3 S o Ojguo oy
Tmp string = Ar(2) 3590 (50 5B yldao oy S

Servo 1 = Val (tmp_string)

Tmp string = Ar(3)

Servo 2 = Val (tmp_string)

Print #1 , "OK : Servol = " ; Servo 1 ; " & Servo2 = " ; Servo 2
End If
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A = Instr(s , "SERVO") «Servo jgiws U8l > G jgo >
If A > 0 Then CueBgo 3 (i8S J148 sl y9igo 939
Bcount = Split(s , Ar(l) , ",") 90w sl ol UL g 650 i}

Tmp string = Ar(2) gl (50 (5B Jlda0

Servol pos = Val (tmp string)
Tmp string = Ar(3)

Servo2 pos = Val (tmp string)
Servo 1 =0
Servo 2 = 0

Print #1 , "OK : Servol = " ; Servol pos ; " & Servo2 = " ;
Servo2_ pos

End If



23S g 350 O (v ygw

Select Case Servo 1 deJ| t5|J-.’ L:-"-B-' JIA.E.o Cou0ud L'J:!I IR
Case 1 3940 (50 6unl20 §99590 99 Jau 69
Servol pos = Servol pos + 30
If Servol pos > 2100 Then Servol pos = Servol pos - 30
Case 2
Servol pos = Servol pos - 30
If Servol pos < 900 Then Servol pos = Servol pos + 30
Case Else
Servol pos = Servol pos
End Select
Select Case Servo 2
Case 1
Servo2 pos = Servo2 pos + 30
If Servo2 pos > 2100 Then Servo2 pos = Servo2 pos - 30
Case 2
Servo2 pos = Servo2 pos - 30
If Servo2 pos < 900 Then Servo2 pos = Servo2 pos + 30
Case Else
Servo2 pos = Servo2 pos
End Select
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For I = 1 To 10 5305 duuwlzo Ju8 (5l Caouud o0 0095 L oS
Pulseout Portd , 5 , Servol pos JLwl j9ig90 99 juw ou Caouwd ol >
Pulseout Portd , 6 , Servo2 pos D395 (50
Waitus 20000

Next I

Waitms 100
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Loop



